www.kaiser-kuehne-play.com Tel. +49(0)4254 - 93150

© Kaiser & Kuhne Freizeitgerate D-27324 Eystrup

K & K Installation

perforated flat

steel

(to be found in
fixing kit, 2 pcs.)

Coat bolts with the supplied liquid threadlocker (medium)
and tighten to the specified torque - 120 Nm!

16x screw connection:

coach bolt DIN 605-M12x40-A2
prevailing forque type hexagon domed cap nut
DIN 986-M12-A2

rubber webbing

D

0]

rubber webbing outside
stand

outside
stand

cenfral stand
pre-assembled
by K&K

fit-up aid:
positioning-
holes

@7 mm

Assign location of equipment considering the space requirements.

Excavate soil for foundations, according fo drawing. Please see that basis of foundation holes are at same
level!

Attention! For installation of the pre-assembled components and/or single parts the screws have
to be lubricated with installation paste!

Put outside stands and assembled central stand into foundation holes, acc. to drawing (Playlevel-mark=blind
rivet). Make sure that all stands are arranged in alignment (possibly with the help of the fit-up holes

®7 in posts). Please observe strictly that the stands are right-angled regarding principle axis of item,
furthermore strictly parallel fo each other and in alignment.

Respectively insert two reinforcing steel bars BSt 500S-®12mmx800 inte the stands (drill holes
factory-made). Crosswise add two further bars BSt 500S-#12mmx1200 (see foundation layout).

In order to retain the reinforcement position, wrap (tying) wire around the intersections and twist the wire
ends by means of appropriafe pincers.

Grout foundations with compressed concrete C20/25. Pay attention that stands do not shift when concrete is
filled in.

Cover with a surface which shall meef the requirements for impact attenuation so that the critical height of
the surfacing according fo EN 1177 shall be equal to or greater than the free height of fall of the equipment
(acc. to EN 1176-1).

After concrete foundations have set, lay rubber webbing on rotary cylinder and fix it with perforated flat
steel to both cutside stands with bolted connection (coach bolt M12x40 and prevailing torque type hexagon
domed cap nut).

Check the ground clearance of rubber webbing in rest position (min. 460 mm) and loaded position with 100 kg
(min. 360 mm) on both sides (see drawing).

In use: ground clearance shall always be equal to or greater than 230 mm (see drawing)

Check all screw connections acc. to instructions of maintenance approx. 4-5 weeks after installation and
retighten, if necessary.

Please take care that all special tools (e.g. hexagon key for secured screws etfc.) and all specific documents
which are or may be useful for safety management acc. to EN 1176-7 (e.g. invoice, delivery note, order
acknowledgement, installation instructions, maintenance instructions) are forwarded to the responsible
department.

Installation

Iltem N° Description Scale Date

0-46650-000B K&K Trampoline belt - 03/19 EB Page 1/2


AutoCAD SHX Text
outside stand

AutoCAD SHX Text
rotary cylinder

AutoCAD SHX Text
rubber webbing

AutoCAD SHX Text
central stand pre-assembled by K&K

AutoCAD SHX Text
outside stand

AutoCAD SHX Text
coach bolt DIN 605-M12x40-A2 prevailing torque type hexagon domed cap nut  DIN 986-M12-A2

AutoCAD SHX Text
rubber webbing

AutoCAD SHX Text
perforated flat steel  (to be found in fixing kit, 2 pcs.)

AutoCAD SHX Text
fit-up aid: positioning- holes Ø7 mm

AutoCAD SHX Text
1. Assign location of equipment considering the space requirements. Assign location of equipment considering the space requirements. 2. Excavate soil for foundations, according to drawing. Please see that basis of foundation holes are at same Excavate soil for foundations, according to drawing. Please see that basis of foundation holes are at same level! 4. Put outside stands and assembled central stand into foundation holes, acc. to drawing (Playlevel-mark=blind Put outside stands and assembled central stand into foundation holes, acc. to drawing (Playlevel-mark=blind rivet). Make sure that all stands are arranged in alignment (possibly with the help of the fit-up holes   7 in posts).  Please observe strictly that the stands are right-angled regarding principle axis of item,furthermore strictly parallel to each other and in alignment. Respectively insert two reinforcing steel bars BSt 500S- 12mmx800 into the stands (drill holesfactory-made). Crosswise add two further bars BSt 500S- 12mmx1200 (see foundation layout).In order to retain the reinforcement position, wrap (tying) wire around the intersections and twist the wire ends by means of appropriate pincers.    5. Grout foundations with compressed concrete C20/25. Pay attention that stands do not shift when concrete is Grout foundations with compressed concrete C20/25. Pay attention that stands do not shift when concrete is filled in.  Cover with a surface which shall meet the requirements for impact attenuation so that the critical height of the surfacing according to EN 1177 shall be equal to or greater than the free height of fall of the equipment (acc. to EN 1176-1). 6. After concrete foundations have set, lay rubber webbing on rotary cylinder and fix it with perforated flat After concrete foundations have set, lay rubber webbing on rotary cylinder and fix it with perforated flat steel to both outside stands with bolted connection (coach bolt M12x40 and prevailing torque type hexagon domed cap nut). 7. Check the ground clearance of rubber webbing in rest position (min. 460 mm) and loaded position with 100 kg Check the ground clearance of rubber webbing in rest position (min. 460 mm) and loaded position with 100 kg (min. 360 mm) on both sides (see drawing).  8. In use: ground clearance shall always be equal to or greater than 230 mm (see drawing) In use: ground clearance shall always be equal to or greater than 230 mm (see drawing)  (see drawing) 9. Check all screw connections acc. to instructions of maintenance approx. 4-5 weeks after installation and Check all screw connections acc. to instructions of maintenance approx. 4-5 weeks after installation and retighten, if necessary. Please take care that all special tools (e.g. hexagon key for secured screws etc.) and all specific documents hexagon key for secured screws etc.) and all specific documents .) and all specific documents which are or may be useful for safety management acc. to EN 1176-7 (e.g. invoice, delivery note, order acknowledgement, installation instructions, maintenance instructions) are forwarded to the responsible department..


— - 1
' { ' i ’
\ 95’ _ 09'L _ 95l /
|
| 08'€ | 08'€ |
Hoie — — — — 4= — — — — T e
e 00ZLXWWZLB-S00S 4S9 A e e
=P Jeq )3ays Bupaoyuad xz i =P
008XWWZl¢-S006 4S9 09'0
Jeq 13ays bupuoyuay xz
00'l
ZL'ol
pueys (g8 juiod / | abed ess) puejs .
apisino puejs |edjuad apis yoes by 0gg Jf apisino T dde
T — T — 10 PEO| "XBW yiIm . —TT T eaJe joedu
L ! soueiesp punoib wnwyy  SC 0 i \
| =v==d=t=-s-|  uoiyisod (ww 7| Buiggam | =e=gt=-e- | wﬂf w==1=t-==- | 0G0
|\ﬂ|_I_|I|_ s34 40 40 SS3UIIYY) Lt byygoLgopeoryph 1L |y
34343u0d i ajuelea) i adueJea)d punodb I \
U punoJb I « i 0%'0
Il L.l
I £€2'0<
* SN £ A1) N N —— N il

w0L'0=1124 4o 4ybiay 3344 990

==t ——o

—— == |E——— e

* =

T
IIIII 9€'0 .
— 13A3) keyd

puejs apisno 4o an:,lﬁ

uolyisod 4sad |\\

u| bes

]

]

0€0
/(.z 001 40 peo)

by 0oL peoy = wambes

a

wswubie ul e

1ayjo yoes o} [9|jesed Ajjouss e
way Jo sixe

a|diound ay1 o1 se|bue 1ybu 1€ e

:spuejs ||e abueuy

0G1€6 - ¥Ser(0)6Y+ "[8L W02 Aejd-auyany-1asiey Mmm

dnisA3 peese-q eresebusziai4 suyny g 1esiey O

uolejeisul ¥ 8 M

Page 2/2

Date
03/19 EB

Scale

Description

0-46650-000B K&K Trampoline belt

ltem N°

Installation


AutoCAD SHX Text
play level

AutoCAD SHX Text
Free height of fall=0,70 m

AutoCAD SHX Text
impact area  app. 44 m²

AutoCAD SHX Text
top of outside stand

AutoCAD SHX Text
ground clearance  of rest position

AutoCAD SHX Text
concrete

AutoCAD SHX Text
outside stand

AutoCAD SHX Text
outside stand

AutoCAD SHX Text
central stand

AutoCAD SHX Text
stand-support tube

AutoCAD SHX Text
sag in rest position

AutoCAD SHX Text
sag with  load of 100 kg

AutoCAD SHX Text
load 100 kg

AutoCAD SHX Text
ground clearance  with load of 100 kg

AutoCAD SHX Text
2x reinforcing steel bar BSt 500S- 12mmx800

AutoCAD SHX Text
2x reinforcing steel bar BSt 500S- 12mmx1200


